| urge a NO vote here. It's designed so that the cities have complete control.

If you want to do something fair, get rid of "winner takes all". Apportion our electoral college votes as the people of the
state voted.

Example:
Oregon popular vote is 60% HRC and 40% DJT. All 7 electoral college votes went to HRC, meaning that 40% of the

state did not have a voice. If 4 EC votes to HRC, 3 to DJT were enacted, all citizens of the state are represented.

Additional Comments:

The US Constitution, Article Il, Section 1 outlines the process for electing a President. A compact by the states
cannot overrule the US Constitution; a Constitutional Amendment can. | reiterate my NO and advise you to stop

wasting your time.

Curt Charles



